SN

SAHF
Hu: N =S BAOZHHIA RS
crel: EAMFAHIA K2 (eto:@e
- _ _ ME
SN - E(SH) - NRAY - BES Off &k oK Ol At o Huns2
SAHE W 47,105,281 37,897,689 9,207,592
= 17,238,462
| 14,500,083
= 112,804
= 15,253,932
d =2 BAoZMHIA A5 46,932,701 37,725,169 9,207,532
= 17,238,462
p 14,500,083
= 112,804
& 15,081,352
SHHIMHIA HS 9,528,648 8,130,361 1,398,287
= 6,534,244
| 61,304
= 3,030
& 2,930,070
EAAMF M L RY 10,000 9,400 600
202 01l 7,000 7,000 0
01 =LA b 7,000 7,000 0
OBAYME MHIANNE PREXN 7,000
203 AR 3,000 2,400 600
03 AMHEFIHSFAH| 3,000 2,400 600
ORAMLRET 3,000
SHEEH S 0¥ F(55) 8,253,684 7,058,464 1,195,220
= 6,534,244
= 1,719,440
403 NtXIEMSK=01H 8,253,684 7,058,464 1,195,220
= 6,534,244
[ 1,719,440
01 MXESHMA=2EE 8,253,684 7,058,464 1,195,220
OsHES 2 A M X 8,109,684
= 6,534,244
= 1,575,440
OEdXa 2elxz EHl 7¢ 144,000
MO MDD AZRE X HHBAE R 61,304 77,717 AN16,413
| 61,304
308 XX HHSOIA 61,304 77,717 216,413
| 61,304
01 MXSHBIAEEXZ 61,304 77,717 216,413
OMMHRED| ALRS L =8 61,304
| 61,304
S3EHI & Md2E WK 5,280 5,280 0
= 1,590
[ 3,690
201 LBt 3| 5,280 5,280 0
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SH: BAMY
B N 52 PABMHA 7
Sl HABINHIA HB (25l &2
_ _ _ Muo
SA-FH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SHLYE M5 NejRAC T HE S8 55,000 0 55,000
201 Yer2 Y| 55,000 0 55,000
01 A2l 55,000 0 55,000
OSZYE M5 NHSAASAE Molag 5,000
OZEYE K5I NYBAASHE 42 50,000
ot ol ML 3,400,478 2,476,708 932,770
= 125,111
| 1,788,838
= 1,495,529
ESIETEFPN 2,480, 187 1,582,707 897,480
o 1,635,606
= 844,581
101 2124 19,826 19,500 306
o 9,913
= 9,913
04 JIAHIEXSS4 19,826 19,500 306
ONYES S=ael 2x 19,826
| 9,913
= 9,913
01 LR AZ 10,800 10,800 0
] 10,800
12 JlEtR A3 10,800 10,800 0
OUNLESS 0l4BIS ASEA &S 0,800
] 0,800
308 XX EHHISOIH 2,449,561 1,552,407 897, 154
| 1,614,893
= 834,668
01 RACSHZLRES 2,449,561 1,552,407 897, 154
OUYES(REIZAS 55) N 809,652
o] 468,754
= 340,898
OBE2HY XA YA KR 42,077
| 28,051
= 14,026
OYRO0t HLES X2 473,292
| 315,528
= 157,764
ONYBE SSHEH 2N 158,600
| 158,600
OB40ULZSHIE 2L = 965,940
o] 643,960
= 321,980
2YTE BT A 8,108 7,858 250
= 5,608
= 2,500
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112,692
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308

mn >

52,151

34,768
17,383

52,151

01
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52,151

11,161
7,441
3,720

40,990

27,327

13,663

52,151

<

10,560

5,280
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10,560

307

<
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5,280
5,280

10,560

02

CHHl XIZBZ Al 2127
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24 29
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5,280
5,280

10,560
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SH: BAMY
i & =2 HABAHA PE
Sl el o ML (25l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0 AF oA il b on HRS2
= 7,267
= 7,267
04 JIAH2EZHE L4 14,534 0 14,534
ORYY 2Al B 14,534
= 7,267
= 7,267
201 L2 2,000 0 2,000
2 2,000
01 AR eIl 2,000 0 2,000
ORYYHESAAl 2| 2,000
= 2,000
308 XHXISHH SO & 10,940 20,250 £9,310
= 7,293
= 3,647
01 RXSHBABES 10,940 20,250 29,310
OFQEYY E2AAAMY 2YX& 10,940
2 7,293
= 3,647
WOIx 2 8 Asa NE 9,975 45,000 £.35,005
| 6,650
= 3,325
308 XHXISHH SO & 9,975 7,500 2,475
| 6,650
= 3,325
01 RXSHBABES 9,975 7,500 2,475
ONEAEA AG A%TY X 9,975
| 6,650
= 3,325
R EI 54,000 22,500 31,500
| 12,000
= 42,000
308 XHXIEHH SOIH 54,000 22,500 31,500
| 2,000
= 42,000
01 MXSHBABES 54,000 22,500 31,500
Oggams oYz (AEBALIND) 18,000
| 12,000
= 6,000
OggaTe KYBAMNY N 36,000
Moy ooz nY 100,000 140,000 40,000
206 W2 100,000 140,000 240,000
01 T2l 100,000 140,000 40,000
ONYY WorE DY 100,000
2opZ 0y 119,242 74,242 45,000
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SH: BAMY
i & =2 HABAHA PE
Sl el o ML (25l &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - BHES Ofl & 04 il o o Rz
ol 30,000
= 89,242
201 Yereoty| 60,000 0 60,000
| 30,000
= 30,000
01 Attt 60,000 0 60,000
OFESL Zaey Qe 60,000
| 30,000
= 30,000
307 QI2H0|H 12,894 12,894 0
02 QIABMBE 12,894 12,894 0
OZsorE B2448 XY 4,894
Ozspe|2y ¥ YR DS 8,000
308 XIXISHHSOIH 46,348 31,348 15,000
01 MHXSHHZHSEZ 44,250 29,250 15,000
OLSAET LAY (0SS TAL)
2,50021+50,000 *30% 37,500
OMAS 2eaX YN 22
15,0002 * 1,500 *30% 6,750
02 4P 2,008 2,008 0
OBZHM +22 BT 6,993, 00021 *30% 2,008
SMBERRINY 2B 54,000 54,000 0
402 RIAX 20 30,000 30,000 0
01 QAR ZRE 30,000 30,000 0
Ostd=x 8l Ful 2Y 30,000
403 MXSHSKZ0IH 24,000 24,000 0
01 MXSHRZ2E 24,000 24,000 0
OBt e IXE 22 X
40,000, 0002 *27H 2 *30% 24,000
ey RBUSIA K& 5,700 5,700 0
308 XHXIEHHIS O & 5,700 5,700 0
01 MASHHBHSES 5,700 5,700 0
A=yl R WSEA K& 3,000
OHIZRISHEE SBUSIA K
1,500, 000! *67H 2 *30% 2,700
ALS T 25} 17,692,304 6,309,572 1,382,822
= 97, 107
| 12,154,806
< 4,570,481
PALY LB 2,432,083 2,025,579 406,504
| 1,848,756
= 583,327
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M BAHH D
PN

Hu: A =2 BARMHIA 2=
el AAZFL G (69 &2
_ _ HEC
S BB H(BH) - MBAY - B2 Ofl & o il o o Hns2
101 o121l 20,778 21,060 A 282
p 10,389
= 10,389
04 JIAH2RNSES 20,778 21,060 A282
OYSEAAY o121 20,778
I 10,389
= 10,389
201 Y2 y| 3,435 1,810 1,625
I 1,718
& 1,717
01 AL/t 3,435 1,810 1,625
OYSEANABSS 1T 3,000
p 1,500
= 1,500
OYSEANY Fgong 435
p 218
= 217
307 212H0I 38,750 45,000 A6,250
I 19,375
= 19,375
02 PABAEE 38,750 45,000 26,250
OYSEANAN B 2 18,750
p 9,375
& 9,375
OgSAABIANY TRIY 2 20,000
p] 10,000
= 10,000
308 XHXISHH SO0 2,369, 120 1,957,709 411,411
p 1,817,274
= 551,846
01 MIXSHBLLETS 2,369, 120 1,957,709 411,411
OY LA 2,182,357
| 1,678,736
= 503,621
O Ol Y 2el At 144,675
I 96,450
= 48,225
OXIASISA A 42,088
| 42,088
SIS 1,035,400 1,395,665 360,265
p 783,000
= 252,400
307 212H0I 50,000 50,000 0
g 25,000
= 25,000
02 PABABE 50,000 50,000 0
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A BABT
PN

n
g 2 =2 BHASAMHA 2=
Sol: AYST Y5 (=E L
_ _ HEc
SA-EY-BR(EH) - NRAY - BES 0f &t il &k o8 HRS2
Osg3cd 238t 50,000
7 25,000
& 25,000
308 NMXIEHHMSO0IH 985,400 1,345,665 A 360,265
p) 758,000
= 227,400
01 HAHHBLdEXS 985,400 1,345,665 A360,265
O=sd2cd 29 985,400
7 758,000
s 227,400
N SatAZHENON S AL 693,119 1,012,250 A319, 131
D) 511,628
= 181,491
201 B2 3,000 3,000 0
7 1,500
= 1,500
01 AtR2teldl 3,000 3,000 0
OHNBUHAUAAY 208 WF 3,000
) 1,500
s 1,500
307 212t01d 77,006 68,750 8,256
p) 38,503
< 38,503
02 2I2tHHE X 77,006 68,750 8,256
OAZSAUANEXEH 2E 77,006
) 38,503
= 38,503
308 AXIEHHMSOIA 613,113 940,500 A327,387
7 471,625
= 141,488
01 HXHHBLdE2ES 613,113 940,500 N327,387
OXNSSStAZHEN N LA 613,113
l 471,625
= 141,488
o202l 233,184 233,184 0
D) 140,592
S 92,592
201 et 45,184 45,184 0
p) 22,592
= 22,592
01 AtR2t2lH 45,184 45,184 0
OBHdEITAZA H201E &y 45,184
Jl 22,592
= 22,592
307 elztold 140,000 140,000 0
p) 70,000
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M BAHH D
PN

B A 2 SAARANUA 2E
Sl ALS TS (el &2
_ _ HEC
SH-EH . C(BH) - NRAY - BES 0 AF oA il b on HRS2

= 70,000

02 PIAAMBE 140,000 140,000 0
Onggg LN 2 140,000
o] 70,000
= 70,000

308 XX SHHISOIH 48,000 48,000 0
)| 48,000

01 RASHBABES 48,000 48,000 0
OnggnlAe X 48,000
| 48,000

A8 ZHAI IR 675,622 599,570 76,052
o 482,587
= 193,035

201 LByl 700 700 0
| 420
= 280

01 AR eIl 700 700 0
OEYRER yol+g 700
| 420
= 280

308 XX EHHISOI & 674,922 598,870 76,052
o] 482, 167
= 192,755

01 RASHBABES 674,922 598,870 76,052
O2YRR XA 674,922
| 482,167
& 192,755

AMEZ YR 269,485 115,890 153,595
o] 179,657
= 89,828

308 XX EHHISOI & 269,485 15,890 153,595
o 179,657
= 89,828

01 RXSHBLBES 269,485 115,890 153,595
OtaE2IY 29 269,485
| 179,657
= 89,828

SESTIAOIA AL 2 EOLRI2] 319,330 280,490 38,840
o 212,887
= 106,443

308 XX EHHISOIF 319,330 280,490 38,840
o] 212,887
= 106,443

01 RXESHBLRES 319,330 280,490 38,840
OMEA THMOIA2AN 2 022 319,330
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M BAHH D
PN

Hu: A =2 BARMHIA 2=
el AAZFL G (69 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hws2

ol 212,887
= 106,443

DI%0I2L A & &0l40H 22| 509,079 305,767 203,312
p 339,386
= 169,693

308 XHXISHH SO 509,079 305,767 203,312
p 339,386
= 169,693

01 MIXCSHMBLLETS 509,079 305,767 203,312
OD0I%50F & A&A0IA0F 224 X2 509,079
y] 339,386
= 169,693

UL U AR0I BEALAY 1,779,633 1,800,000 A20,367
p 1,186,422
= 593,211

308 XHXISHH SO 1,779,633 1,800,000 A20,367
p 1,186,422
= 593,211

R ERES) 1,779,633 1,800,000 A20,367
O AR0I SEALAY 1,779,633
I 1,186,422
= 593,211

AMON BT FE 33,399 32,157 1,242
p 22,266
= 11,133

308 XHXISHH SO0 33,399 32,157 {,242
p 22,266
= 11,133

01 MXCSHBLLETS 33,399 32,157 1,242
OAIMOF B2 2 A} 33,399
| 22,266
= 11,133

ADAMOLE S0 XI 2 1,080,972 860,821 220, 151
= 962,177
= 118,795

307 212H0I 11,817 9,324 2,493
= 11,817

02 PABAEE 1,817 9,324 2,493
OMR AMOF £20| DRI 11,817
= 11,817

308 X XIS SO0 1,069,155 851,497 217,658
=2 950,360
= 118,795

01 MHACSHMBALSTS 1,069,155 851,497 217,658
OMD AMO0F T20 XIR A 1,069,155
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SN

Hu: A =2 BARMHIA 2=
el AAZFL G (69 &2
_ _ HEC
S BB H(BH) - MBAY - B2 Ofl AF o il o o Hns2

= 950,360
= 118,795

TSI IPNE- 2,226,779 2,248,277 ~21,498
p 1,461,985
= 764,794

308 XHXISHH SO 2,046,779 2,078,277 A31,498
p 1,461,985
= 584,794

01 MXSHZAHSES 2,046,779 2,078,277 ~31,498
O FIIAT AL 2,046,779
| 1,461,985
= 564,794

402 QIATH2O0|H 180,000 170,000 10,000

01 PIAR=EE 180,000 170,000 10,000
OBS-X& R (AL R2IB3]) 60,000
OAATBY PY(AR=XE ) 120,000

otex ol2Hl N 1,884,753 1,527,157 357,596
| 1,346,252
= 538,501

308 XHXI IS 0 & 1,884,753 1,527,157 357,506
| 1,346,252
= 538,501

01 MHXSHMBLLSTS 1,884,753 1,527,157 357,596
OY&R 22N 1,884,753
| 1,346,252
= 538,501

ALY ST N 2,165,909 1,843,439 322,470
| 1,804,924
= 360,985

308 XHXIEHRIS 0 2,165,909 1,843,439 322,470
| 1,804,924
= 360,985

01 HXCSHBALSES 2,165,909 1,843,439 322,470
OB LIS DEX O RH X2 2,165,909
| 1,804,924
= 360,985

o/ x| H 1,220,768 601,640 619,128
| 1,021,640
= 199, 128

308 XHXI GRS Ol & 1,220,768 601,640 619,128
| 1,021,640
= 199, 128

01 HXCSHBASES 1,220,768 601,640 619,128
OJNEMELIT LK BHAY X 975,024
| 812,520
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M BAHH D
PN

M M g2 BARNHIA 1E
Sl HASVL S (e

_ _ pSNE e
K- HB . SR(31) - IRAY - B2 Abod e HREZ

< 162,504
OXAIHE LolIoX| 2EA 193,824
p 161,520
< 32,304
Okol S FHAAS PYAL T 25,920
p 21,600
= 4,320
Ol EAATEAY 26,000
p 26,000

NI 237,652 236,211 1,441
p 198,043
= 39,609

308 Xt XIEHHSOIH 237,652 236,211 1,441
p 198,043
= 39,609

01 HXSHILEES 237,652 236,211 1,441
OXIOHEHRIIALY XI € 237,652
p 198,043
< 39,609

LB AMMT 137,180 228,080 90,900
p 137,180

308 XiXIEHHSOIH 137,180 208,000 AT70,820
g 137,180

01 RHXESHBARES 137,180 208,000 AT0,820
OTLRAN 29 47,180
p 47,180
OTLBAME HXSY 90,000
| 90,000

AFSEASTEIAY 9,380 60,000 A50,620
p 9,380

308 X XIEHHSOIH 9,380 10,000 £620
p 9,380

01 RXESHIASES 9,380 10,000 £620
O4+F2 2438 %E X 9,380
g 9,380

ENCTEEEINEIP b 381,785 315,648 66, 137
p 381,785

308 XiXIEHHSOIH 381,785 306,048 75,737
p 381,785

01 RXESHBARES 381,785 306,048 75,737
OXISALEI EALZEAI ALY 381,785
| 381,785

oM AXK 30,000 30,000 0

308 XiXIEHHSOIH 30,000 30,000 0
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M BAHH D
PN

Hu: A =2 BARMHIA 2=
el AAZFL G (69 &2
o HEc
A -3 -H2A(SH) - HEAMY - BES Off &F o4 Ol Ak OH BlusZ
01 MXSHAZHEES 30,000 30,000 0
OMQIEE 2T 25,0002 %6, 0002 *20% 30,000
HESHLQ Y2 65,340 65,340 0
308 XHXI IS Ol & 65,340 65,340 0
01 MHXSHBALSTS 65,340 65,340 0
ONEEHL0 w2 65,340
NEASAY N 12,000 12,000 0
308 XHXISHH SO 12,000 12,000 0
01 IXSHBLLSTS 12,000 12,000 0
OJNELBAIY X 12,000
SO{E0I4 AARTY 90,000 90,000 0
308 XHXISHH SO0 90,000 90,000 0
01 MHXCSHMBLSES 90,000 90,000 0
OS0l&E 014 AYAX 90,000
HMede AT 53,856 53,856 0
308 X+XI IS O & 53,856 53,856 0
01 MXSHAZAHEES 53,856 53,856 0
OFYHY AT 53,856
R0t AY AT ALY 51,653 51,671 A8
| 46,796
= 4,857
308 XHXI IS Ol & 51,653 51,671 A8
| 46,796
& 4,857
01 MHACSHMBASTS 51,653 51,671 A18
OY R0t ALAX 51,653
p 46,796
= 4,857
=TIV PEEIETE=Fpef 17,460 35,010 A17,550
| 11,640
= 5,820
308 XHXI IS Ol & 17,460 35,010 A17,550
| 11,640
= 5,820
01 MHACSHMBALSTS 7,460 35,010 A17,550
02Dl 014 AYSA 17,460
p 11,640
= 5,820
AYS YAUELS T AYHLBSS 7,395 0 7,395
= 4,930
= 2,465




M BAHH D
PN

B 3 g2 PAABAHIA PE
cel: AABE Y (el a9
_ _ HEC
SA-E - S(E) - MEAY - BES 01l &4 24 i GImE=ET
308 XNXISHHSOIE 7,395 0 7,395
= 4,930
S 2,465
01 XM EXS 7,395 0 7,395
OAYS YMBNES P8 AYZESS 7,39
= 4,930
= 2,465
OtEml - #4l ol 28,000 0 28,000
Il 28,000
308 XX EHHSOIH 28,000 0 28,000
Il 28,000
01 XM EXS 28,000 0 28,000
OOLED - &4 o2 28,000
P 28,000
SS A 11,178 0 11,178
308 XX HHSOIA 11,178 0 11,178
01 MXEHINELS 11,178 0 11,178
OsSZ3AM 11,178
3= MHIA 23t 16,302, 181 10,808,528 5,493,653
= 9,612,000
Il 495,135
= 109,774
= 6,085,272
Ngogd g Jlsdst 1,000,000 5,800,000 24,800,000
= 500,000
S 500,000
306 E¢= 1,000,000 5,800,000 24,800,000
= 500,000
S 500,000
01 &g = 1,000,000 5,800,000 A 4,800,000
O22&d A4 - BHIEZ 1,000,000
= 500,000
= 500,000
ANgosd M 30,000 0 30,000
201 LEH2HH| 30,000 0 30,000
01 At 2t2iHl 30,000 0 30,000
Ool2® FYHAI|HH 2 10,000
Oogdd 28 318 S(AHL, &4) 20,000
NEHEEE M=S Slst 13,841,000 3,682,500 10,158,500
= 9,000,000
= 4,841,000
403 XXM SA=201H 13,841,000 3,682,500 10,158,500
= 9,000,000
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SH: BAMY
i & =2 PABAHA PE
o9l BTOADMHIA A5 (S5 &2)
SH-EH . C(BH) - NRAY - BES 0 AF oA gggi; HRS2
< 4,841,000
02 ZJIZSOICHEICHE A RS 13,841,000 3,682,500 10, 158,500
Ot 2R ME 0H 13,841,000
= 9,000,000
= 4,841,000
SUZREAANY N 581,795 480,000 101,795
| 485,795
= 9,000
308 XX SIS OIH 450,369 280,000 70,369
| 354,369
= 9,000
01 RACSHZARES 450,369 280,000 170,369
OBt X A H A 34,369
o] 34,369
OB S AALZTHBR AL AL 416,000
| 320,000
= 9,000
403 THXISHHIS KHE 0 H 131,426 200,000 £68,574
o] 131,426
01 MXSHRZSE 131,426 200,000 £68,574
OB AALEH JPTE A 131,426
| 131,426
N2 BBBAAY 200,000 200,000 0
= 105,000
= 95,000
306 E013 200,000 200,000 0
= 105,000
= 95,000
01 2012 200,000 200,000 0
OXNYASR TZEAAY 200,000
= 105,000
= 95,000
AL LRAE AL 400,000 400,000 0
306 E013 400,000 400,000 0
01 B3 400,000 400,000 0
OQZHE, 243, HYH RENSAY 400,000
MATHEHE X S X2 60,000 60,000 0
308 XX EHHISOI & 60,000 60,000 0
01 RXNSHBABES 60,000 60,000 0
OOt MHEX S 2A2H X 60,000
O B AIA (2 E) 9,340 10,000 A660
] 9,340
202 Oft| 1,000 1,000 0
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SH: BAMY
i & =2 PABAHA PE
o9l BTOADMHIA A5 (25l &2
_ _ _ N E
SA-FH - SA(SAH) - MREAY - BES Off &k OH bﬂngﬁ Hws2
ol 7,000
01 =Uioibl 1,000 1,000 0
OO H2A A ALY 1,000
] 1,000
307 CI2H0IH 8,340 9,000 A660
o] 8,340
02 BIABABE 8,340 9,000 2660
OBt 2 AIAHY 8,340
| 8,340
SARH DS 13,566 9,548 4,018
&2 4,774
= 8,792
201 Yer2 Y| 8,338 4,320 4,018
= 2,160
= 6,178
01 At el 8,338 4,320 4,018
ORAFRY 2407 8,338
= 2,160
= 6,178
301 YBrBAZ 5,228 5,228 0
= 2,614
= 2,614
12 JIER A3 5,228 5,228 0
OBANRY RS 5,228
= 2,614
= 2,614
CHRARRA 2N 6,480 6,480 0
308 XHXIEHHIS Ol & 6,480 6,480 0
01 MXSHBABES 6,480 6,480 0
OEHBATRA 22/ (8MA) 6,480
QR22X S A2NE 160,000 160,000 0
= 112,000
= 48,000
307 Q20| H 160,000 160,000 0
= 112,000
= 48,000
01 22272 160,000 160,000 0
OARU2ZT} S AQNE LRABAIY 160,000
= 112,000
= 48,000
HZS YA (BAYI D) 172,580 172,520 60
ol 2| 4,980 4,920 60
SNSYHREAY| 4,980 4,920 60
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54,000
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ok
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x
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oF
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K
ok
31
oF
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OH
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OH
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